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A ST
g MsdE 2435
gelr Msds |4 X (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
OX&AZ(HE2=EIR) 1,500,000& 403l 60,000
OEMBE(NISSAINR)
300,000& *x22H 23| 13,200
om = 2,150,000 +22% 47,300
Ha &b (HE2SEIIR)
70,0003 x22H x5 43| 30,800
OdXEdH (HE2s3II%)
70,0003 22 x40 61,600
ORMIEH(HE2SEIIR)
2,000,000 x4 & 8,000
OEXEE 800,000& »22&H 17,600
OEXZ(HEAR2SHIR) 6,000,000 9 54,000
ONEZEERES 1,096,200,000& *1.5% 16,443
O=3H=ZRE= 1,096,200,000& *4.5% 49,329
OMNEEREZ 1,096,200, 000& *3.6% 39,464
O=QALEBEHEES  1,096,200,000& *3.12% 34,202
OLUBFILLEBEHRFHZS 34,202,000& +6.55% 2,241
NEA2sIZINREs =54 23 ¢ FH A2 303,600 303,600 0
201 L2 | 263,600 263,600 0
01 AF22t2l bl 195,600 195,600 0
Og=a 1,100, 000& =123 30 A& 39,600
O= &l 720,000& x10& 18 129,600
O ZtAlH| 120,000 103 »22H 26,400
02 2324l 68,000 68,000 0
O0z3&E2= & HA 24,000
@=L 500,000& =128 «3& 18,000
QAR =AY 500,000& 123 6,000
O A& &EHl s Xl 44,000
OANOIZRE 7L 10,000, 000& *23] 20,000
@t - &8l 500,000& »4CH«12& 24,000
405 THabH S| 40,000 40,000 0
01 AL SEF S| 40,000 40,000 0
OXHZESHIIR(A0IZR) MOIZ 7L 40,000
NYRSHIR 2YX 60,000 57,000 3,000
=) 60,000
301 et d = 60,000 57,000 3,000
=) 60,000
o=t - 2sRsSEY=S 60,000 57,000 3,000
oOXNFESIIR 29 60,000
< 60,000
dFAUEIE X 320,000 230,000 90,000
< 20,000
Al 300,000




S RS = Faig=a i,
g MsdE 2435
S9l: HSTE |4 X EEREED
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 320,000 230,000 90,000
< 20,000
Al 300,000
02 PIZHEHAHE L 320,000 230,000 90,000
OFFAUFIH K& 320,000
< 20,000
Al 300,000
dF=AA=S 29 XA 761,000 741,000 20,000
307 glz2+ol & 746,000 726,000 20,000
03 QIAHMNHE2IHIEE 746,000 726,000 20,000
O&F=AN=2 2¢ XN& 746,000
402 RI2HXt20l ™ 15,000 15,000 0
01 212t 2 A E = (REM ) 15,000 15,000 0
OdFAM=2 298 MY 15,000
dF=AZHA=S 29 NE 175,033 156,567 18,466
307 glz2tol & 175,033 156,567 18,466
03 BIAHMNHE2IHIEL 175,033 156,567 18,466
OXHFANZMHAM=ES 2 N 175,033
ZZ2RH 230 NEEE 120,000 70,000 50,000
201 LBt 120,000 70,000 50,000
01 At 22l 120,000 70,000 50,000
OKeld 8387 AEEE 80,000
OKCC 280 ANEEE 40,000
HF=AEH =S 300,000 200,000 100,000
307 gl2tol & 300,000 200,000 100,000
02 IZHE M AHE L 300,000 200,000 100,000
OHM26sl dFACM=US 300,000
ESHE =221 29 90,000 90,000 0
307 g1+l & 90,000 90,000 0
02 LIt AMAHEE 90,000 90,000 0
OEN=2 F2e1 24 90,000
IQHHSHEH 29 & IUMHEUS I 25( 30,000 30,000 0
EPIESESPARCY
307 glz2tol & 30,000 30,000 0
02 It M AHEE 30,000 30,000 0
O=2HEeISHE 2F ¥ IFPMHUS J|gt
o= 30,000
AEXIAMNY SH KEAY 20,000 20,000 0
201 £B-2%| 20,000 20,000 0
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S RS = Faig=a i,
g MsdE 2435
g MsdsE 84 XY (&)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
01 2284 15,000 0 15,000
Od==ZHUsa KX 410 =24 24 15,000
MSAE Ji2 D18 A 10,000 0 10,000
201 LBt 10,000 0 10,000
03 &AL2 I 10,000 0 10,000
OXM=AIE W& J1E4 10,000
HEMSAH(EFT) SE2T 22 35,000 0 35,000
< 15,000
Al 20,000
307 21201 A 35,000 0 35,000
= 15,000
Al 20,000
02 IS AMHEL 35,000 0 35,000
ONEMESA(MFTH) S22 L2t 35,000
< 15,000
Al 20,000
Hsliz 29 XN& 2,163,555 1,702,980 460,575
< 311,500
Al 1,852,055
SF=ATH dEH=s d=3UESUH 3,600 4,000 2400
307 gl2tol & 3,600 4,000 A 400
04 DIZHHALALSE E X 3,600 4,000 A 400
OM178l EFAIZH MEMS dIUSUHS 3,600
H=AZH dEHs d=2NAAUE 4,500 5,000 A 500
307 glz2tol & 4,500 5,000 A 500
04 QIZFHALAIH E = 4,500 5,000 A 500
ORMB8al HFAIHHH HEHMS IS NANUHE 4,500
H=AZTE dEXHs 8332 SI)RsUE 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIH B = 7,000 7,000 0
OM183 M=AIZH MEHS A= BIER=
Ch3l 7,000
H=AZH dEHs dI22A=2AH3 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
ORMb52 HFAIEH HEHS dI2S4UH 5,000
H=AZE 2CLE - REIBCICHSE 9,500 9,500 0
307 21201 A 9,500 9,500 0
04 QIZFHALAIH B = 9,500 9,500 0
OHM123 d=AIZH 2CLYY - FEIHCIHHE 9,500




AN MSAS B

¥ NEedE 2435
@2 dA=x0s 29 N (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
HdFTAEH MEHMSE H=4 HOIE=ZUHS 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 DIZHSHAFAIRHE 2 X 5,000 5,000 0
ON243 dFAI & MEME HEA HOES
o 3l 5,000
HE=ATH MEHS AA2E2ZH S 5,000 5,000 0
307 QI2t0| M 5,000 5,000 0
04 DIZ2tSH AFAFS B2 X 5,000 5,000 0
OMb53 HMFAXH MdEME D2 5,000
HdF=AEH MEMSE=WHAZ22H0IZ NS 6,300 0 6,300
307 212t01 & 6,300 0 6,300
04 QIZHSHAFAIRHE 2 X 6,300 0 6,300
OM153 dF=AI&H MEHMSEIWH=2CH0E
o 3l 6,300
HE=AEH MEHMS 2SI|1=5UHS 5,000 4,000 1,000
307 QI2t0| ™ 5,000 4,000 1,000
04 DIZHSHAFAIRE 2 X 5,000 4,000 1,000
OM73 HMF=ANHEH HEXME S SIISUHS 5,000
HFTAEH MEMS =4AIHONIAZEUF 9,000 10,000 A 1,000
307 212t01 & 9,000 10,000 A 1,000
04 QIZHSHAFAIE 2 X 9,000 10,000 A 1,000
OHNB63 MFTAIXE MEHE =&AI8%012
SEU3 9,000
MF=AIEH MENFE AFAAUS 8,550 9,500 A 950
307 QI2t0| M 8,550 9,500 A 950
04 QIZ2FSH AFAFS B X 8,550 9,500 A 950
OM133 dZ=AIEH MEHE AFHAUE 8,550
MFTAIEH MEHMES 8= S35 AAOEUS 9,500 9,500 0
307 212t01 & 9,500 9,500 0
04 QIZHSHAFAIE 2 X 9,500 9,500 0
OHM153 MF ALY MEHE 83 532 A
A Ol & CH 3 9,500
MFAEH MEM=S BHEEUS 9,500 9,500 0
307 212t01 & 9,500 9,500 0
04 QIZHSHAFAIRE 2 X 9,500 9,500 0
OM293 MFAI&HH MEMEF BHEUESH S 9,500
HdFTAEH MEME =20 S EHUHE =AU 9,400 9,400 0
307 212t01 & 9,400 9,400 0




AN MSAS B

M MEdE #4358
2 M 29 X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
04 DI2HHALALSE E X 9,400 9,400 0
ORM162 M=AIZH MEHs d=0Us S EH
=7z 9,400
SF=AZTH M= LO0E0IH 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 RIZHHALAIH 2 & 5,000 5,000 0
OM62l MFAZH M= SOHEOCIUE 5,000
S=AZH MEMS LIHSZ0E 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OM63 MFAZH MBHE UHHIZZUE 5,000
H=AZTH MEXME A - AEEWS 16,000 16,000 0
307 21201 A 16,000 16,000 0
04 QIZFHALAIH B = 16,000 16,000 0
OMN143] MFAITH MEMS AJ| - ALEE
Ch3l 16,000
HF=AZH MEHS AAAIHUSE 4,500 5,000 A 500
307 glz2tol & 4,500 5,000 A 500
04 QIZFHALAIH E = 4,500 5,000 A 500
OHM63 MFAZH MEHE AUAIHUS 4,500
HFAIZH M| == 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
OM128] MFAIZH MHEMSE ==ZUa 6,000
SF=AETH M= 8= E12U= 9,500 9,500 0
307 21201 A 9,500 9,500 0
04 DIZHHALALSE E X 9,500 9,500 0
OHM21al dFAIZH MEMSE 82 FFUSE 9,500
HF=AZH MEHS 32 =2 SAU 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DI2HHALALSE E X 10,000 10,000 0
OM162 H=AIZH MEHS d= =28 =2
thal 10,000
SF=ATH HEH= det=SE0 =2€II03 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OM158 EFAZH MEHS M= =4
JItH 3l 5,000
HFAZH M2Hs 82 AAUS 5,000 4,000 1,000




2AM: Mo
=ds

PSS = 243
@2 dA=x0s 29 N (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
307 212t01 & 5,000 4,000 1,000
04 QIZHSHAFAIE 2 X 5,000 4,000 1,000
OM203 ®FAI&H MEME 8= AU 5,000
HFAIEH MEHs HIASZAS 5,000 3,000 2,000
307 QI2t01 & 5,000 3,000 2,000
04 QI2FSHALAIE B = 5,000 3,000 2,000
OM33 HM=ATEH HEXME HA=Z0HS 5,000
HE=ANEH Rt HEHMZBZHAUS 13,600 13,600 0
307 QI2t0| M 13,600 13,600 0
04 DIZHSHAFAIRE 2 X 13,600 13,600 0
OHM243] MFAIEH 2ot MEYZHAU
3| 13,600
HdFAIEH MEHE daE SHUEY U 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QI2ISHALAIE B = 5,000 5,000 0
ON=AIEY dEME 448 S EHUHE AU
3| 5,000
HFTAIEH MEHE d=ZASO0EUHS 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHALAIE 2 X 5,000 5,000 0
OM158 EFAIEH MEHs d=Zas0Y
Hal 5,000
HF=AIEH RIS 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OM23 HF=AFBH RIS 5,000
HF=AIEH Ol=HILIACHS 6,000 6,000 0
307 QI2t0| & 6,000 6,000 0
04 QIZISHALAIE B2 X 6,000 6,000 0
OHM143 HF=AIEH Ol=HILIATSE 6,000
HEAEH MEMSHAATIZIIWUS 4,500 0 4,500
307 QI2t0| ™ 4,500 0 4,500
04 QI2tSHALAIE E &= 4,500 0 4,500
ON63 HMFAHEH HEMNES HAATZI XA
3| 4,500
HeSdh NEE Al d2TH3 2,000 2,000 0
307 QI2t0| M 2,000 2,000 0
02 DI2HEAAIEE X 2,000 2,000 0




2AM: Mo
=ds

PSS = 243
@2 dA=x0s 29 N (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
oS NEE Al A3l 2,000
sSdt NEE & Se¢Uis &4 3,000 3,000 0
307 QI2t0| & 3,000 3,000 0
02 QI2ZtAAMAIE E =X 3,000 3,000 0
oHsdu NEE & d2U3 =& 3,000
HEANED M3 24FTsty =3 t2U3 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 DIZHHAFAL I 2 X 6,000 6,000 0
OM11E dFAIEI =2 2t =& 0O
203 6,000
HF=AIEH A 5,000 4,000 1,000
307 QI2t0| ™ 5,000 4,000 1,000
04 QI2FSHALAIE B = 5,000 4,000 1,000
OM178 & Z=AIZHH & AHS 5,000
HdFAED d2HEH2=US 25,000 25,000 0
307 QI2t0| M 25,000 25,000 0
04 QIZHSHAFAIRE 2 X 25,000 25,000 0
OHM213 dFAEI E2LEH=2EZUS 25,000
HMFEAEH BAEZSHUHE SF2US 12,500 12,500 0
307 212t01 & 12,500 12,500 0
04 DIZHSHAFAIRHE 2 X 12,500 12,500 0
OHMBal HFAIXH HAEHSHUE S2US 12,500
HFEAEI SEH=2EUF 9,000 9,000 0
307 212t01 & 9,000 9,000 0
04 QIZHSHAFAIE 2 X 9,000 9,000 0
OHM263 MFAIEI L H 163 MFAIEHH &
H=d U3 9,000
HFAIEI] SALHS 5,000 4,500 500
307 212t01 & 5,000 4,500 500
04 QIZHSHAFAIE 2 X 5,000 4,500 500
OM63 HMFANFI S&USI 5,000
HF=AIEH HR20U3 6,000 6,000 0
307 QI2t01 & 6,000 6,000 0
04 QIZHSHALAIE B2 X 6,000 6,000 0
OHMIB8al ®=AIEH U2 6,000
HdFAIEH E0=sA03 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QI2tSHALAIE E &= 5,000 5,000 0




2AM: Mo
=ds

M MEdE #4358
2 M 29 X (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
On YFEe AT =2 H163 HF=AZH &N
saUz 5,000
Sd=AIEHH &= Ot0F BSOS 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OHM 143 M=AIZH &= Ot0F IS 3 20,000
HdFAIEH sU3 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
04 DI2HHALALSE E X 9,000 9,000 0
OHMI173 MFAEEH =s72U3I 9,000
HE=ANEH 8= LE S350 E§2U3 9,500 9,500 0
307 21201 A 9,500 9,500 0
04 QIZFHALAIH B = 9,500 9,500 0
OXN26sl dFAIEH 8= 2 5352 &2
3 9,500
HdFAIEEH SEU3 6,000 6,000 0
307 2Iztol A 6,000 6,000 0
04 DI2FHALALSE E X 6,000 6,000 0
OHM233 d=F=AEHH SEUS 6,000
H=AZEI BHAZOS 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIE B = 5,000 5,000 0
ORM222 d=AIEI| EBHE =3 5,000
H=AZH HUAGS 5,000 4,000 1,000
307 21201 A 5,000 4,000 1,000
04 DIZHHALALSE E X 5,000 4,000 1,000
OHM263l EFAIZH HILIATE 5,000
MF=AIEH BHESIE S 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2ZHHALALSE E X 5,000 5,000 0
OHM9sl M==AIZHl BHECIEHS 5,000
HFAIZH SEUE H2U3 10,000 10,000 0
307 2I2t0ol ™ 10,000 10,000 0
04 DI2FHALALSE E X 10,000 10,000 0
ORM232 d=AIZH SEUHE H-2UH2 10,000
HFAIEI S2U3 9,000 9,000 0
307 21201 A 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0




AN MSAS B
g MsdE 2435
2 M 29 X (&
SN - SAGEA) - MRAY - BES 0] &k o4 il Hl D&
OHM27al EFAHEI E2U3 9,000
HFAEH =S5720U3 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OXN23s dFAIEH =Ss=2U2 5,000
AT =HU3 6,000 6,000 0
307 glztol & 6,000 6,000 0
04 QIZFHALAIR B = 6,000 6,000 0
OM158 MF=AIE =FUHs 6,000
SF=AEI SUSE 5,000 5,000 0
307 2201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OHM28 dFAFI S 5,000
Al 1(0t01)-21d &7 U3 22,230 22,230 0
307 glz2tol & 22,230 22,230 0
02 It M AHEE 22,230 22,230 0
O®EZFAl I(0t0l)-21a E+U3 22,230
ZOHQ M=U3 X2 52,000 21,000 31,000
301 et A= 10,000 10,000 0
12 JIE2 43 10,000 10,000 0
Od= WM M=lU=z £H 10,000
307 21201 A 42,000 11,000 31,000
02 It S AIHE L 42,000 11,000 31,000
Od= s0tel M=z &=d 6,000
OdE NMEML MSUH &2& 5,000
Od= FUe M=Uz =& X 31,000
SF=AZH ZO0He MEMSHE 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE 2 X 5,000 5,000 0
OHM63 MFAZH HOHQ MBS 5,000
H=AZHH =S HYSHHUE =& X2 1,800 0 1,800
307 glz2tol & 1,800 0 1,800
02 It M AMHEE 1,800 0 1,800
OXFAZMAMES tHHUE =& XA 1,800
M5 sotel M=isl 40,000 0 40,000
=) 12,000
Al 28,000
307 glztol & 40,000 0 40,000
e
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73¥02=sEZ20Y 22 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DI2ZHHALALSE E X 3,000 3,000 0
o732 E5 3,000
SA=EII2so Iz 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALALH 2 = 3,000 3,000 0
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elS07e X& 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
02 QB AAGFEX 30,000 30,000 0
Od= clSotE 15,000
O2tst el S0F e 15,000
FA 24 dEH=S 3,000 3,000 0
07 @120l & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 3,000 0
OHFA H2 4 iI= &0 3,000
H=A HUAEI XU HLULAWMS 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 QIZFHALAIH B = 2,500 2,500 0
OM172l & ==Al | ZHHH BILIACH S 2,500
H=AZH S350 ksl 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
OM1058 HFAlH 6,000
SF=AEH e L REEAMFANINESUHE 5,000 4,000 1,000
307 gl2tol & 5,000 4,000 1,000
04 DIZHHALALSE E X 5,000 4,000 1,000
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thal 5,000
d=20ct2E=2e & 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
OdINct2EZSZMN 2,000
=0&d=203 &H 2,500 2,500 0
07 @120l & 2,500 2,500 0
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Al 100,000
HdF=2E IFMBAZ=HE 250,000 200,000 50,000
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Al 20,000
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Al 20,000
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< 15,000
Al 20,000
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SA BB (3H) - NRAY - B Ol At o %E& HRE2
301 Bt A= 617,600 499,200 118,400
J| 432,320
& 92,640
Al 92,640
01 Al E & X 462 617,600 499,200 118,400
oAZ=2ZX0I2H X 617,600
J| 432,320
= 92,640
Al 92,640
NEHE ATXZ2YE 291 40,000 20,000 20,000
= 20,000
Al 20,000
307 giztol A 40,000 20,000 20,000
& 20,000
Al 20,000
02 QI2tAAMAIE E =X 40,000 20,000 20,000
OXNYHE AZX=EY 29X« 40,000
& 20,000
Al 20,000
HFEALXSHSA(ZIIAEXH) 30,000 330,000 A 300,000
307 2I2t0| ™ 30,000 330,000 A 300,000
02 DIZHBAAIE E X 30,000 330,000 A 300,000
OFTALZIXZHERY 30,000
StM=0HE 26,560 26,880 A 320
J| 11,840
= 3,520
Al 11,200
301 et A= 26,560 26,880 A 320
J| 11,840
& 3,520
Al 11,200
01 Al E & A 462 26,560 26,880 A 320
OStMEDME 26,560
J| 11,840
o= 3,520
Al 11,200
s 243 11,745,945 18, 159,512 NB6,413,567
= 240,000
Al 11,505,945
HEXIEAE XA 11,745,945 18, 159,512 NB,413,567
Ry 240,000
Al 11,505,945
HESAE X2 175,600 168,600 7,000
201 LBt Y| 175,600 168,600 7,000
02 Z2=2=24%4| 175,600 168,600 7,000
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OMSAE FX2e 5,600
OHUN=E2 RS 170,000
Esdd Jls B2 200,000 0 200,000
401 AIEHIZL 2CHEI 200,000 0 200,000
01 A& Hl 200,000 0 200,000
CE=g® JIs B2Z 200,000
HSAL2H AIZ2e3E A& 9,100,345 8,793,912 306,433
309 MEZ 8,423,395 7,488,712 934,683
01 SAL- SHINTEZ 8,423,395 7,488,712 934,683
OMsSAL2H 2L 8,423,395
404 SASHUHEHES 676,950 1,305,200 A 628,250
01 SAt - SEHIESEES 676,950 1,305,200 A 628,250
OMSAEZ2HE ANEXA 676,950
SSHSAE FLrdFZH 140,000 0 140,000
401 AIEHIZL 20 140,000 0 140,000
01 A& tl 140,000 0 140,000
OMsA&gE 32 B4 140,000
HMEAE 2|22d 300,000 300,000 0
401 Al HI K 201 I 300,000 300,000 0
01 A& HI 300,000 300,000 0
OMsAE cl2gd 300,000
SAMUBHECIEE A& 400,000 0 400,000
401 Al HIZ 201 8] 400,000 0 400,000
01 A& HI 399,000 0 399,000
OGS XAMLHBHERIEHZ AIEHA 399,000
03 Al 2 THHI 1,000 0 1,000
OHUXALHHHECIEHE AN 1,000
QAN ZSE &Y £X 300,000 0 300,000
s 90,000
Al 210,000
401 A& HIZ 201 I 300,000 0 300,000
s 90,000
Al 210,000
01 A& HI 300,000 0 300,000
OHINMEIE & £X 300,000
s 90,000
Al 210,000
SUHMBNSSR 57 &4X 200,000 0 200,000
z 60,000
Al 140,000
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01 Al&H| 200,000 0 200,000
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Al 140,000
SHAM= 2 SHE A 100,000 0 100,000
401 AlEHIZL 2 0HY| 100,000 0 100,000
01 Al& H| 100,000 0 100,000
Ot =2 SZ A 100,000
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Fag 90,000
Al 210,000
401 Al HI L E0HHI 300,000 0 300,000
hag 90,000
Al 210,000
01 A& H| 299,000 0 299,000
OOEZHESE ZAE 2da 299,000
Fag 89,700
Al 209,300
03 AlE 21| 1,000 0 1,000
O0IEMEHZ2]d ZTo&H 22az 1,000
g 300
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A28 HII2(FetH) AEX EX 450,000 0 450,000
401 Al HI L £ 0HHI 450,000 0 450,000
01 Al& H| 450,000 0 450,000
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o & X ARl 450,000
ERUSA X £AHES 60,000 0 60,000
401 AlEHIZL 2 0HY| 60,000 0 60,000
01 Al&EH| 60,000 0 60,000
O3 2 X EHEdE 60,000
ma=s=& X484 ¥ S22 20,000 0 20,000
401 Al HI L £ 0HHI 20,000 0 20,000
01 Al& H| 20,000 0 20,000
oma=a2T-a X4 ¥ A2 20,000
HESAAH (ML) 61,776 63,176 A 1,400
Jl2dd (s a0H) 61,776 63,176 A 1,400
Jl2dd (MSs A ) 61,776 63,176 A 1,400
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